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1 100 2000 50 6000 900 8 10 400 5000 1000

20 9000 2 30 4000 200 9 500 5 90

2000 500 30 8 4000 20

4 1

6000 100 10 200 9
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1 100 2000 50
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3 5
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1 1 2 - 5 - 3 1 3035

2 2 1 1 3 5 2 2 3280

3 - 3 5 6 3 5 4 -

4 1 - 4 2 10 - - -

5 - - 3965

1 2000 + 500 + 500 + 100 + 100 + 100 + 100 + 100 + 10 + 10 + 10 + 5

= 2000 + 1000 + 500 + 35

= 3000 + 535

= 3535

3280
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305 238

575 492

1895 1352

3762 2545

7775 2639

1049 259

1199 369
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(Dice)


 

 




6 5 6  5 = 30

4 8 4 8 =

3 9

5 7

6 9

5 8

6 7





 






  




5  7 =
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5 + 5 + 5 + 5 4  5 20

3 + 3 2  3

2 + 2 + 2 + 2 + 2 + 2

3  7

8 + 8 + 8 + 8 + 8 + 8 48

7  3 = = 21

7  3 3  4 5  9 3  1 4  6 3  12 4  8 3  7 8  5

12 9 7 5 8 4 5

7 1 3 5 8 6 9 12

5 9 6 4 3 5 7 1

6 8 5 12 4 3 9

5 8 1 9 3 6 5 3

3

3

21
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3  4

25

5  10
48

10  5

6  8

5  5

9 7

 4 + 4 + 4

 7+ 7 + 7 + 7+ 7 + 7 + 7+ 7 + 7

5 7
2 9

3
8 6

4

8 9

= 72

2 7
9 5

4
1 3

8

95

= 45

8
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10   

7   

5   

7   

12   

       7 14 21 35

15 20 40

72 73
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 3 = 

 3 = 

20 5 = 

    5 = 20

9 3 = 3

3 3 = 9

   = 

   = 
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   = 

   = 

   = 

   = 

   = 

   = 

   = 

   = 
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
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12

16
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+5 -4 2 5

2

3 5 -1 
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= =1 1000 2

= 4000

200 + = 1

1500 + = 2

300 + 700 =

= 2300 + 700

1 + = 1400
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